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11. a) X Ltd. has purchased a Machinery for its Manufacturing Unit, the price paid for
the Machinery is Rs. 5,00,000, inclusive of GST of Rs. 80,000. The company
gets a credit of GST while calculating tax payable on Finished goods sold.
The additional costs incurred are Freight Rs. 10,000, customs duty Rs. 8,000,
installation expenses Rs. 6,000. Estimated cost of dismantling and removing
the item would be Rs. 4,000. After the Machinery was put into use Rs. 24.000
was spent for cleaning the spare parts.

Calculate the cost of PPE as per Ind-AS-16.
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b) Calculate the borrowing cost in case of XYZ Company Ltd.

1) 40 Crores arranged by 12% p.a. debentures payable after 10 years.
20 crores by 12 years loan from SB and 20 crores from HDFC Bank the
SBl interest rate is 14% P.a. and HDFC Bank Interest rate is 16% p.a.

2) Debentures repayable 10% premium.
3) The cost of issue of Debentures is 30 lakhs.
4) The service charges for SBI loan 8%.
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